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@

function y=pw_linear(x)
y=X;

ind=Find(x>3);
y(ind)=2;
ind=Find(x<=3 & x>0);
y(ind)=x(ind)-1;
ind=Find(x<=0);
y(ind)=-x(ind);
return

)
x=linspace(-5,5);

y=pw_linear(x);

plot(x,y)

2.
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(b)

function S=new()

S=zeros(4,4);

pl=randperm(4);

p2=randperm(4);

for i=1:4
J=p1(i);
c=p2(i);
S(i,j)=c;

end

return

3.

(a)

function B=submatrix(A,i)
n=length(A(1,:));

B=[1:

for j=1:n



it j-=i
v=A(2:n,j);
B=[B v];
end
end
return
(b)Example:
A=[123;456;789]
B=submatrix(A,1)
B=[5 6;8 9]

4,

function v=mydet(A)

n=length(A(1,:));

v=0;

it n==2
v=A(1,1)*A(2,2)-A(1,2)*A(2,1);
return

end

for i=1:n
B=submatrix(A, i)
v=v+(-DNMNa+1D)*A(1, 1) *mydet(B);

end

return

5.

(a)

function V=count(S)
C:[IAI ITI ICI IGI];

V=zeros(1,4);
n=length(S);
for i=1:n
for j=1:4
if S(i)==CQ)
vVa)=v(g)+1;
end
end

end



return
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6.

x=linspace(-5,5);

plot(x,tanh(x));

hold on;

n=length(x);
plot(x,tanh(x)+(rand(1,n)-0.3)*0.1);

7.

function v=Fitting(X,y)
n=length(x);
A=zeros(2,2);
B=zeros(2,1);
A(1,D)=sum(x."2);
A(1,2)=sum(x);
A(2,1)=A(1,2);
A(2,2)=n;
b(1,1)=sum(x’*y);
b(2,1)=sum(y);
v=inv(C)*b;

v

return



